EE2045EE/ N1/ AABRNEEXRFRAFEMEREEN

o RE i HE EM | EE 2E@E) %
HAI#E ik - RE 1 =%
1 ERAKENR ERK-HERIERAEE 50tvk 1 =®
2 ERIREAT 84MYIF FEHAINIL 50Uk 50 =
3 RIBERNRT—HER 1 ®
BTHRE S
57k 2k x 3k I ITAMT 11 &R
6 TUMER 2k 2l m
1 TUMER 3kE 1 &,
8 7a>T—oIL 450 x 1,800 6 = TYEETAGCR)ET
9 7—7/LYyAxX =k 3
10| /1 THF 6 B
IRRE=Y F= 3
12| 2L ER W900 X H1,800 8 31 =% 1 &
13 2R RER W600 X H300 3 &
14/ ZE (KYRY) EHEL 50 &
15 BN R—L ey 20
FHEEE 1=K
16 Tk 2kx 3k 9T A MM 1 3K
17 TUMER k8 4
18| TUMER k& 2
19 7a57—71L 450 x 1,800 10 =
20 T—7)LYAR B 10 #®
21 INMTHF 20
22 ¥BFhN— =k 20
23 HERtYk BE (RyhkARRL) 20
RNHEIGFRE-EE 1 =
24 RBFUL 10m X 25m 100kg™ LA F20fE& T 1 &
25 TUMER 70 m
26 fIE%& H2000 x W9000 8
27 W H 1 &%
28 EE 11 &
29 FAlRE 1 &
30 FasT—IIL 450 X 1, 800X &S AR
31 T—=7)ILyAaxR B 5
32|11 THF XEE-BEERT 65 M
33 BFHh/A— BEXEE-FEEET 60 #A
34 XARIFITFIR 900 x 1,800 1 #%
35 MER W7,200 X H900 1 &
36 XRE W1,800 X HO00 B 3T =% 11 &
37 BEEMEN 2RHR 10 #®
38 REEWR W1,800 x HO900 B 31 =% 1 &
39 ERRAVF 2004448 1 &
40 &I T 11 &
41| TEFRBA/NARIL W1,800 X HO00 B L = 10 &
42 FERZE A3/ F 2
43 YAV REVK LEIZ AR 2 K
44| FERL W90 x H250 50 #&
45 b1 300 x 600 1
46| F LY A REUR LEIREZVUR 11 K
47 EEERY A 300 X 600 11 #&
48 SEEERY AV REUR LBEIRSUR 1 X




Ino. kS Eai HE Ef EE £EMA) ik
REXSIGRE - EE 1=

49 XU Fh—Rybk 90018 7R 10 m

50 &R—IL 5 XK

51 AN#BT—7 154V FH-AK1%E 2 &

52 T—FHvk)RUE X 10, Bk

53| &R—ILYRVE in 4/ EK

54 BF R 10, M

55| &% 10 T

56 /\ YR 10

57 RER 2# 4

58 HEZEIR WS5,400 x H600 1 &

59 ZILILYHRATUREyan 4m X 6m 1| 3R kL
60 = 3mE 4 kL
61 & 4m=E 2 kL
62 TR ITA+ 60kg 6 & kL
63 fREEhTL BEFAXEKRY-MALET 2l ® kL
64 FHELZR 1 & kL
65 7a57—7I)L 450 x 1,800 3 =

66 T—J)ILYAR B 3

67 /M THF 2

68 SEM% 1 = ABHEED
69 FEH 26KVAXFERHESD 1 &

REHIESRE 1=

70 BEESAUE|E SAVh— AR 200 BH

71 BEER W600 X H1,8003% & 2 &

72|BIEISAAER W600 X H1,8003% & F1 s 2 ®

73 Ht AR B IR W900 X H1,800 8 37 7 1

ZDfth S

74| BEEIGERE 3 &

75 Al 11 £

76 EITTILYR— 1 %

77 BEI=aT7IL-ETER 1 K

18 REREEETE 1 =K

79 RXEE 1 =K

2ASERE - BEAGE 1=

80 F®E 588 2 &

81 n %8 10 %

82 W& B8R 2 &

83 n %8 10 %

84 iR & ERELET 2 =

ERE L

85 kA 10t 2 &

86 = 10t 2 B

FEEHE

87 #REE 10% 10%

i BiRE
HAH 10%3A 7




